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QUESTION 1

Patrick visits his teenage daughter\\'s social media page and discovers several offensive posts about one of her
classmates. After speaking with his daughter, Patrick learns that several other girls in her class are upset with the
classmate and have been posting, texting and e-mailing others about the girl. What is the best way for Patrick to help
his daughter understand cyber bullying? 

A. He should advise his daughter to ignore the posts, texts and c-mails. 

B. He should explain to his daughter that she is participating in the bullying by accepting others\\'posts, texts and c-
mails. 

C. He should explain to his daughter that the Internet embraces freedom of speech, and anyone is allowed to write
anything. 

D. He should advise his daughter to delete all the posts, texts and c-mails she has received, as well as any new ones
that appear. 

Correct Answer: B 

 

QUESTION 2

Which of the following statement about virtualization is true? 

A. Virtualization enables multiple physical computers to run off of a single virtualized server. 

B. In virtualization, you run multiple virtual machines, provided they all use the same operating system. 

C. In virtualization, the operating systems of the virtual machines should match the host operating system. 

D. Virtualization enables you to run multiple operating systems and applications on a single computer. 

Correct Answer: D 

 

QUESTION 3

Cloud-computing enables mobile devices to provide users with access to a wide variety of applications and services.
Which of the following is a disadvantage of mobile devices? 

A. Mobile devices cannot accommodate Web browsing. 

B. Mobile devices cannot easily be used for checking e-mail. 

C. Mobile devices cannot access software hosted on remote servers. 

D. Mobile devices cannot accommodate large database installations or applications. 

Correct Answer: D 
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QUESTION 4

Lisa is traveling on company business. She has a company-issued smartphone with 4G access. Her hotel does not
provide Internet access. What advantage does 4G provide to help her access the Internet? 

A. She can use a 4G mobile hotspot device with her phone to connect her laptop to Wi-Fi. 

B. She can use the 4G phone to establish a VPN connection into the company network. 

C. She can use the41G phone to call and locate a public location that provides free Wi-Fl. 

D. She can use her41G phone\\'s GPS to identify another hotel that provides in-room Internet access. 

Correct Answer: A 

 

QUESTION 5

You want to enable wireless security on your Android device and your Linux system. Which of the following is a
disadvantage of Wired Equivalent Privacy (WEP)? 

A. It enables MAC address filtering. 

B. It is easily compromised by hackers. 

C. It only supports 56-bit symmetric-key encryption. 

D. It is based on the outdated 802.lla wireless standard. 

Correct Answer: B 
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